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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- The rising death toll is ................. largely to the growing number of elderly people,
who are especially vulnerable to the flu.
1) converted 2) transferred 3) attributed 4) debilitated

2- The couple were finally ................. by the landlord after not paying rent for six
months.
1) elicited 2) evacuated 3) extended 4) evicted

3- We have a ................. clientele in our language program, with students from Asia,
Europe and South America.
1) diverse 2) haphazard 3) complex 4) symmetrical

4- But the possibility of these adversaries acting like friends, despite their long-
standing .......ccceeenne and mutual dislike, is on the horizon.
1) advocacy 2) justification 3) rivalry 4) inclination

5- Debating that aliens exist cannot be deemed an ................. truth as we have yet to
see proof of their existence.
1) insensitive 2) incontrovertible 3) unintelligible 4) unforeseeable

6- The girls wanted to set the table, but they were more of a ................. than a help.
1) hindrance 2) pretension 3) compliment 4) thrill

7- The government is to consult the attorney general on whether the enacting of such
a law would be in ......cccoeuueeee of the constitution.
1) rationalization 2) caprice 3) provenance 4) breach

8- Someone once joked that man blames most accidents on ................. , but feels a
more personal responsibility when he makes a hole-in-one on the golf course.
1) verdict 2) fate 3) legality 4) charge

9- The trial collapsed when it became clear that the main witness for the prosecution
Was not .............ee.. .
1) singular 2) conjectural 3) credible 4) subjective

10- The rising number of minority inmates in prison only goes to ................ the
stereotype that members of minority groups are bad people.
1) downplay 2) perpetuate 3) overlook 4) belie

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best
fits each space. Then mark the correct choice on your answer sheet.

Fuel cell electric vehicles emit only water vapor and warm air, (11) -------- no tailpipe
emissions. Similar to electricity, hydrogen is an energy carrier that can be produced from
various feedstocks. These feedstocks and production methods should be considered when

Argonne National Laboratory's (ANL) report, Fuel Choices for Fuel Cell Vehicles: Well-
to-Wheels Energy and Emission Impacts analyzed greenhouse gas (GHG) (13) -------- 10 of
the most common hydrogen production and distribution pathways. ANL found that gaseous
hydrogen produces (14) -------- GHGs than liquid hydrogen in most cases. ANL also
investigated hydrogen's effects on petroleum use and found that using hydrogen as a fuel
(15) -------- petroleum use by nearly 100% regardless of fuel production pathway.
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11- 1) that produces 2) producing 3) produce 4) to produce

12- 1) evaluating hydrogen emissions 2) hydrogen emissions evaluated

3) to evaluate hydrogen emissions 4) for hydrogen emissions to evaluate

13- 1) it is emitted as 2) to be emitted 3) emissions for 4) is emitted for

14- 1) as little 2) fewer of 3) less of 4) fewer

15- 1) reduced 2) to reduce 3) reduction 4) that reduces
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